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Poisson 12�345678�29:;,-. /

2. < p1(x), p2(y) =,�>�?�@ABC
DE

p(x, y) = p1(x)p2(y) + h(x, y)

FD�GH>�?�@ABC
 'I �� h(x, y) JKLMNOPQRS% /

3. T U V % A,B,C W X Y Z � S % 
[ \ ] ^ _ ` P (ABC) = P (A)P (B)P (C) a b c d
P (AB) = P (A)P (B) �eFZ!

4. �fghi n jk�lm��n
 n j�noF�pq
Wrs j� tuD a v!&wx
fgy zhi��n{|hi�}� j�n tq~u��C���!

5. < X1, · · · ,Xn DYZ k�?�����
I�?D�CD λ ��C�?!� Yi = X1+· · ·+Xi,

1 ≤ i ≤ n. &w Y1, · · · , Yn ����?�@ABC!

6. �<���� X � Y WXYZ
��y���? N(0, σ2), &w |Y |/|X|, Y/|X| � Y/X �@
ABC!

7. �<���� ξ � η WXYZ
 ξ �y [0, 1] ����?
 η �yH��? B(n, p), &w ξ +η

��?BC!� ' ξ + η
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��m
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8. < ξ1, ξ2, · · · , ξm, · · · D��C����YZ������
���� η M$� C:
L�
{ξn;n ≥ 1} YZ
¡ _

E
η∑

k=1

ξk =
∞∑

k=1

EξkP (η ≥ k).

9. ¢£¤D 1, 2, · · · , n � n G¥��¦§{ r G¨©ª
< n > r, k ≥ 1, '«¬� k G­¨©
�*+,-. /

10. < ξ
,�®����
 m

,�®C
OP ¯}S%° P (ξ ≤ m) ≥ 1/2, P (ξ ≥ m) ≥ 1/2. ±
m D ξ � �²C!³ ξ �C���D Eξ, 3´D σ2. ¡ _°

Eξ − σ ≤ m ≤ Eξ + σ.
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